



Procurement Department



Supplier offer details

Supplier name: Alsundusia For Drugs and Medic

TNDRE/009/2019 Tender no:

Offer no: OS00309/001/2019

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	CENTRIFUGE 8X15ML	PCS	400.00	400.00	190,000.00	76,000,000.00	Thermo fisher Sc	Germany	
2	COLD CENTRIFUGE	UNT	20.00	20.00	3,000,000.00	60,000,000.00	Thermo fisher Sc	Germany	

136,000,000.00 Offer total value

Offer deposit fee (2% of Total Value in SDG)

2,720,000.00

Offer total No. of Items Offered

2

3

Offer no: OS00309/002/2019

Offer Status: Confirmed & Sent

Srl	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
;	CENTRIFUGE 8X15ML	PCS	400.00	400.00	180,000.00	72,000,000.00	Biobase	China	

Offer total value

72,000,000.00

Offer deposit fee (2% of Total Value in SDG)

1,440,000.00

Offer total No. of Items Offered

Consolidated value

208,000,000.00

Consolidated Deposit Fee (2% of Total Value in SDG)

4,160,000.00

Consolidated Total No. of Items

Peint time 12:10:52PM Peint date 12/11/2019 Page 1 of 12 Supplier name: ambab devolpment co.ltd

Offer no: OS00400/001/2019

Tender no: TNDRE/009/2019

Offer Status: Confirmed & Sent

Srl.	Item description	иом	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Donor Chair	UNT	250.00	250.00	96,275.58	24,068,895.00	Titanox	Italy	
2	Plasma extractor	UNT	50.00	50.00	73,177.92	3,658,896.00	BMS	Spain	
3	Blood Collection Monitor	UNT	50.00	50.00	223,825.26	11,191,263.00	Ljungberg & koge	Sweden	
4	Benchtop tube sealer	UNT	150.00	150.00	284,125.20	42,618,780.00	Ljungberg & koge	Sweden	
5	WATER BATH 22L	PCS	150.00	150.00	167,193.08	25,078,962.00	EMSAS	Turkey	
6	CENTRIFUGE 8X15ML	PCS	400.00	400.00	121,906.44	48,762,576.00	CENTURION	United Kingdo	
7	COLD CENTRIFUGE	UNT	20.00	20.00	611,731.82	12,234,636.40	CENTURION	United Kingdc	

3,352,280.17 Offer total value 167,614,008.40 Offer deposit fee (2% of Total Value in SDG) Offer total No. of Items Offered

7 167,614,008.40 3,352,280.17 Consolidated value Consolidated Deposit Fee (2% of Total Value in SDG) Consolidated Total No. of Items

Peint date 12/11/2019 Peint time 12:10:52PM Page 2 of 12 Supplier name: DORMA MEDICAL CO. Tender no: TNDRE/009/2019

Offer no: OS00399/001/2019 Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Donor Chair	UNT	250.00	250.00	21,850.00	5,462,500.00	LineAlife	Turkey	
2	WATER BATH 22L	PCS	150.00	150.00	57,000.00	8,550,000.00	Vision Scientifi	South Korea	
3	CENTRIFUGE 8X15ML	PCS	400.00	400.00	66,500.00	26,600,000.00	Vision Scientifi	South Korea	
4	COLD CENTRIFUGE	UNT	20.00	20.00	2,470,000.00	49,400,000.00	Vision Scientifi	South Korea	

Offer total value 90,012,500.00 Offer deposit fee (2% of Total Value in SDG) 1,800,250.00 Offer total No. of Items Offered 4

Consolidated value 90,012,500.00 Consolidated Deposit Fee (2% of Total Value in SDG) 1,800,250.00 Consolidated Total No. of Items

Peint date 12/11/2019 Peint time 12:10:52PM Page 3 of 12

Supplier name: EANA Medical Services and Inve

Tender no: TNDRE/009/2019

Offer no: OS00034/004/2019

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	COLD CENTRIFUGE	UNT	20.00	20.00	1,695,000.00	33,900,000.00	AFI GROUP	France	OLD FACTORY FOR JOANN T
2	Donor Chair	UNT	250.00	250.00	206,910.00	51,727,500.00	TERUMO PENPOL	India	
3	Benchtop tube sealer	UNT	150.00	150.00	175,560.00	26,334,000.00	TERUMO PENPOL	India	
4	WATER BATH 22L	PCS	150.00	150.00	58,782.00	8,817,300.00	NUVE	Turkey	
5	CENTRIFUGE 8X15ML	PCS	400.00	400.00	71,016.00	28,406,400.00	NUVE	Turkey	
6	Blood Collection Monitor	UNT	50.00	50.00	202,208.00	10,110,400.00	TERUMO BCT	United States	
7	Plasma extractor	UNT	50.00	50.00	22,886.00	1,144,300.00	TERUMO BCT	United States	

Offer total value

160,439,900.00

Offer deposit fee (2% of Total Value in SDG)

3,208,798.00

Offer total No. of Items Offered

Consolidated value

160,439,900.00

Consolidated Deposit Fee (2% of Total Value in SDG)

3,208,798.00

Consolidated Total No. of Items

7

Peint date 12/11/2019 Peint time 12:10:52PM Page 4 of 12 Supplier name: FLOW MEDICAL FOR MEDICAL

Tender no: TNDRE/009/2019

Offer no: OS00204/003/2019

Offer Status: Confirmed & Sent

Sr	. Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
	1 Blood Collection Monitor	UNT	50.00	50.00	116,105.00	5,805,250.00	DELCON	Italy	
	2 Benchtop tube sealer	UNT	150.00	150.00	127,957.00	19,193,550.00	DELCON	Italy	
	3 CENTRIFUGE 8X15ML	PCS	400.00	400.00	12,000.00	4,800,000.00	FLOWMEDIA	SUDAN	
	4 Donor Chair	UNT	250.00	250.00	31,668.00	7,917,000.00	DOLSAN	Turkey	

Offer total value

37,715,800.00

Offer deposit fee (2% of Total Value in SDG)

754,316.00

Offer total No. of Items Offered

3

7

Offer no: OS00204/004/2019

Offer Status: Confirmed & Sent

s	rl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
	5	Blood Collection Monitor	UNT	50.00	50.00	110,837.00	5,541,850.00	DELCON.	Italy	
	6	Benchtop tube sealer	UNT	150.00	150.00	183,200.00	27,480,000.00	DELCON.	Italy	
	7	Donor Chair	UNT	250.00	250.00	45,864.00	11,466,000.00	DOLSAN.	Turkey	

Offer total value

44,487,850.00

Offer deposit fee (2% of Total Value in SDG)

889,757.00

Offer total No. of Items Offered

Consolidated value

82,203,650.00

Consolidated Deposit Fee (2% of Total Value in SDG)

1,644,073.00

Consolidated Total No. of Items

Peint time 12:10:52PM Page 5 of 12 Peint date 12/11/2019

Supplier name: gotaq medical supply

Tender no: TNDRE/009/2019

Offer no: OS00314/003/2019 Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	COLD CENTRIFUGE	UNT	20.00	20.00	2,210,000.00	44,200,000.00	SIGMA Laborzentr	Germany	
2	Blood Collection Monitor	UNT	50.00	50.00	294,500.00	14,725,000.00	Moller Medical G	Swaziland	
3	Benchtop tube sealer	UNT	150.00	150.00	296,500.00	44,475,000.00	Genesis BPS Inte	Swaziland	
4	WATER BATH 22L	PCS	150.00	150.00	133,411.00	20,011,650.00	major science	Taiwan	
5	Donor Chair	UNT	250.00	250.00	119,211.00	29,802,750.00	Dolsan	Turkey	

Offer total value 153,214,400.00 Offer deposit fee (2% of Total Value in SDG) 3,064,288.00 Offer total No. of Items Offered 5

Offer no: OS00314/004/2019 Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
6	Blood Collection Monitor	UNT	50.00	50.00	183,200.00	9,160,000.00	Moller Medical	Swaziland	
7	Donor Chair	UNT	250.00	250.00	143,650.00	35,912,500.00	Dolsan.,	Turkey	

Offer total value 45,072,500.00 Offer deposit fee (2% of Total Value in SDG) 901,450.00 Offer total No. of Items Offered 2

Offer no: OS00314/005/2019 Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
8	Donor Chair	UNT	250.00	250.00	194,640.00	48,660,000.00	Dolsan,	Turkey	

Offer total value 48,660,000.00 Offer deposit fee (2% of Total Value in SDG) 973,200.00 Offer total No. of Items Offered 1

Consolidated value 246,946,900.00 Consolidated Deposit Fee (2% of Total Value in SDG) 4,938,938.00 Consolidated Total No. of Items 8

Peint date 12/11/2019 Peint time 12:10:52PM Page 6 of 12

Supplier name: NORY MEDICAL DEVICES Tender no: TNDRE/009/2019

Offer no: OS00064/003/2019 Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Blood Collection Monitor	UNT	50.00	50.00	243,000.00	12,150,000.00	Fresenius-Kabi	Germany	
2	Benchtop tube sealer	UNT	150.00	150.00	308,000.00	46,200,000.00	Fresenius-Kabi	Germany	

Offer total value 58,350,000.00 Offer deposit fee (2% of Total Value in SDG) 1,167,000.00 Offer total No. of Items Offered 2

Consolidated value 58,350,000.00 Consolidated Deposit Fee (2% of Total Value in SDG) 1,167,000.00 Consolidated Total No. of Items 2

Peint date 12/11/2019 Peint time 12:10:52PM Page 7 of 12

Supplier name: pentra technology Tender no: TNDRE/009/2019

Offer no: OS00196/037/2019 Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	WATER BATH 22L	PCS	150.00	150.00	332,306.00	49,845,900.00	GFL	Germany	
2	CENTRIFUGE 8X15ML	PCS	400.00	400.00	196,600.00	78,640,000.00	HERMLE	Germany	
3	COLD CENTRIFUGE	UNT	20.00	20.00	6,933,000.00	138,660,000.00	SIGMA	Germany	
4	Donor Chair	UNT	250.00	250.00	150,000.00	37,500,000.00	GIMA	Italy	

Offer total value 304,645,900.00 Offer deposit fee (2% of Total Value in SDG) 6,092,918.00 Offer total No. of Items Offered 4

Offer no: OS00196/038/2019 Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
5	CENTRIFUGE 8X15ML	PCS	400.00	400.00	189,600.00	75,840,000.00	LW Scintific	Afghanistan	
6	Donor Chair	UNT	250.00	250.00	178,000.00	44,500,000.00	GIMA.	Italy	

Offer total value 120,340,000.00 Offer deposit fee (2% of Total Value in SDG) 2,406,800.00 Offer total No. of Items Offered 2

Offer no: OS00196/039/2019 Offer Status: Confirmed & Sent

Offer deposit fee (2% of Total Value in SDG)

67,500,000.00

Offer total value

Srl	Item description	иом	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks	
-	Donor Chair	UNT	250.00	250.00	270,000.00	67,500,000.00	TITANO	Italy		

1,350,000.00

Offer total No. of Items Offered

Consolidated value 492,485,900.00 Consolidated Deposit Fee (2% of Total Value in SDG) 9,849,718.00 Consolidated Total No. of Items

Peint date 12/11/2019 Peint time 12:10:52PM Page 8 of 12

Supplier name: RASD Pharma for Multi Activities

Tender no: TNDRE/009/2019

Offer no: OS00280/005/2019

WATER BATH 22L

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Blood Collection Monitor	UNT	50.00	50.00	177,000.00	8,850,000.00	Lmb Technologie	Germany	Model:NOVO LC
2	Plasma extractor	UNT	50.00	50.00	33,000.00	1,650,000.00	Lmb Technologie	Germany	Model:PE-10000
3	Donor Chair	UNT	250.00	250.00	77,000.00	19,250,000.00	Lmb Technologie	Germany	Model:DL100P
4	Benchtop tube sealer	UNT	150.00	150.00	266,000.00	39,900,000.00	Lmb Technologie	Germany	Model:SEALmatic M
5	COLD CENTRIFUGE	UNT	20.00	20.00	3,370,000.00	67,400,000.00	Kubota Corporati	Japan	power sup.2&3 phas
6	CENTRIFUGE 8X15ML	PCS	400.00	400.00	70,000.00	28,000,000.00	Gemmy Industrial	Taiwan	USFDA,M:PLC-036

4,950,000.00

Offer total value 170,000,000.00 Offer deposit fee (2% of Total Value in SDG)

150.00

PCS

3,400,000.00 Offer total No. of Items Offered

Taiwan

USFDA,Model:YCW-010

7

7

Gemmy Industrial

Consolidated value 170,000,000.00 Consolidated Deposit Fee (2% of Total Value in SDG) 3,400,000.00 Consolidated Total No. of Items

33,000.00

150.00

Peint date 12/11/2019 Peint time 12:10:52PM Page 9 of 12

Supplier name: Rokn Almazaya investment

Tender no: TNDRE/009/2019

Offer no: OS00057/002/2019 Offer Status: Confirmed & Sent

s	irl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
	1	CENTRIFUGE 8X15ML	PCS	400.00	400.00	55,900.00	22,360,000.00	HETTICH	Germany	
	2	COLD CENTRIFUGE	UNT	20.00	20.00	2,430,000.00	48,600,000.00	HETTICH	Germany	

Offer total value 70,960,000.00 Offer deposit fee (2% of Total Value in SDG) 1,419,200.00 Offer total No. of Items Offered 2

Consolidated value 70,960,000.00 Consolidated Deposit Fee (2% of Total Value in SDG) 1,419,200.00 Consolidated Total No. of Items 2

Peint date 12/11/2019 Peint time 12:10:52PM Page 10 of 12

Supplier name: Sawaid For medical Equipment

Tender no: TNDRE/009/2019

Offer no: OS00356/003/2019

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Donor Chair	UNT	250.00	250.00	71,000.00	17,750,000.00	DOLSAN	Turkey	

17,750,000.00 355,000.00 1 Offer total value Offer deposit fee (2% of Total Value in SDG) Offer total No. of Items Offered

17,750,000.00 Consolidated Deposit Fee (2% of Total Value in SDG) 355,000.00 1 Consolidated value Consolidated Total No. of Items

Peint date 12/11/2019 Peint time 12:10:52PM Page 11 of 12 Supplier name: Tabasheer Meical Co.Ltd.

Tender no: TNDRE/009/2019

Offer no: OS00056/006/2019

Offer Status: Confirmed & Sent

Sr	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
	CENTRIFUGE 8X15ML	PCS	400.00	400.00	55,000.00	22,000,000.00	CAPP	Denmark	Capp Rondo Clinical Centrifuge
	2 Donor Chair	UNT	250.00	250.00	67,000.00	16,750,000.00	MAK	Indonesia	Model 31309

Offer total value

38,750,000.00

Offer deposit fee (2% of Total Value in SDG)

775,000.00

Offer total No. of Items Offered

2

4

Offer no: OS00056/007/2019

Offer Status: Confirmed & Sent

s	I. Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
	3 CENTRIFUGE 8X15ML	PCS	400.00	400.00	42,000.00	16,800,000.00	CAPP1	Denmark	Capp Rondo Clinical Centrifuge
	4 Donor Chair	UNT	250.00	250.00	22,000.00	5,500,000.00	MAK1	Indonesia	Model: 31306

Offer total value

22,300,000.00

Offer deposit fee (2% of Total Value in SDG)

446,000.00

Offer total No. of Items Offered

2

Consolidated value

61,050,000.00

Consolidated Deposit Fee (2% of Total Value in SDG)

1,221,000.00

Consolidated Total No. of Items

Peint date 12/11/2019 Peint time 12:10:52PM Page 12 of 12





Procurement Department



Supplier offer details

Supplier name: Elhussien Commercial AG. for C

TNDRE/008/2019 Tender no:

Offer no: OS00016/004/2019

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Donor Chair	UNT	250.00	250.00	18,250.00	4,562,500.00	Bihealthcare	China	
2	WATER BATH 8-12L	UNT	150.00	150.00	128,000.00	19,200,000.00	Memmert	Germany	

Offer total value

23,762,500.00

Offer deposit fee (2% of Total Value in SDG)

475,250.00

Offer total No. of Items Offered

2

2

Offer no: OS00016/005/2019

Offer Status: Confirmed & Sent

s	rl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
	3	Donor Chair	UNT	250.00	250.00	22,750.00	5,687,500.00	.Bihealthcare	China	
	4	WATER BATH 8-12L	UNT	150.00	150.00	138,000.00	20,700,000.00	.Memmert	Germany	

Offer total value

26,387,500.00

Offer deposit fee (2% of Total Value in SDG)

527,750.00

Offer total No. of Items Offered

Consolidated value

50,150,000.00

Consolidated Deposit Fee (2% of Total Value in SDG)

1,003,000.00

Consolidated Total No. of Items

Peint time 12:06:23PM Peint date 12/11/2019 Page 1 of 4 Supplier name: Elrebooa medical company

Tender no: TNDRE/008/2019

Offer no: OS00248/004/2019

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	CENTRIFUGE 8X15ML	PCS	400.00	400.00	19,845.00	7,938,000.00	Biobase	China	
2	WATER BATH 8-12L	UNT	150.00	150.00	15,750.00	2,362,500.00	Biobase	China	
3	Blood Collection Monitor	UNT	50.00	50.00	62,370.00	3,118,500.00	Biobase	China	
4	Plasma extractor	UNT	50.00	50.00	28,350.00	1,417,500.00	Biobase	China	
5	Donor Chair	UNT	250.00	250.00	21,240.00	5,310,000.00	Medik	China	
6	Benchtop tube sealer	UNT	150.00	150.00	81,270.00	12,190,500.00	Biobase	China	

Offer total value

32,337,000.00

Offer deposit fee (2% of Total Value in SDG)

646,740.00

Offer total No. of Items Offered

6

7

Offer no: OS00248/005/2019

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
7	Donor Chair	UNT	250.00	250.00	38,640.00	9,660,000.00	Fazzini	Italy	

Offer total value

Consolidated value

9,660,000.00

41,997,000.00

Offer deposit fee (2% of Total Value in SDG)

Consolidated Deposit Fee (2% of Total Value in SDG)

193,200.00

839,940.00

Offer total No. of Items Offered

Consolidated Total No. of Items

Peint date 12/11/2019 Peint time 12:06:23PM Page 2 of 4 Supplier name: Omnia Medical Services Co Tender no: TNDRE/008/2019

Offer no: OS00193/004/2019 Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Donor Chair	UNT	250.00	250.00	153,004.00	38,251,000.00	DIGITERM	Hungary	

Offer total value 38,251,000.00 Offer deposit fee (2% of Total Value in SDG) 765,020.00 Offer total No. of Items Offered 1

Offer no: OS00193/005/2019 Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
2	CENTRIFUGE 8X15ML	PCS	400.00	400.00	51,150.00	20,460,000.00	HETTICH.	Germany	
3	COLD CENTRIFUGE	UNT	20.00	20.00	2,034,245.00	40,684,900.00	HETTICH.	Germany	
4	Plasma extractor	UNT	50.00	50.00	24,087.00	1,204,350.00	BMS.	Lebanon	
5	WATER BATH 8-12L	UNT	150.00	150.00	35,823.00	5,373,450.00	DAIHAN .	South Korea	
6	Donor Chair	UNT	250.00	250.00	138,005.00	34,501,250.00	MOBILE DESIGNS.	United States	

Offer total value 102,223,950.00 Offer deposit fee (2% of Total Value in SDG) 2,044,479.00 Offer total No. of Items Offered 5

Consolidated value 140,474,950.00 Consolidated Deposit Fee (2% of Total Value in SDG) 2,809,499.00 Consolidated Total No. of Items 6

Peint date 12/11/2019 Peint time 12:06:23PM Page 3 of 4

Supplier name: PENOTEE MULTIACTIVITIES C

Tender no: TNDRE/008/2019

Offer no: OS00106/005/2019

Offer Status: Confirmed & Sent

Srl.	Item description	иом	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Plasma extractor	UNT	50.00	50.00	19,655.42	982,771.20	BMS	Lebanon	
2	WATER BATH 8-12L	UNT	150.00	150.00	61,380.10	9,207,014.40	BMS-JS Research	South Korea	
3	Donor Chair	UNT	250.00	250.00	70,137.95	17,534,488.60	BMS - Dolsan	Turkey	

Offer total value

27,724,274.20

Offer deposit fee (2% of Total Value in SDG)

554,485.48

Offer total No. of Items Offered

3

4

Offer no: OS00106/006/2019

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
4	Donor Chair	UNT	250.00	250.00	192,218.46	48,054,615.83	Digiterm	Hungary	

Offer total value

48,054,615.83

Offer deposit fee (2% of Total Value in SDG)

961,092.32

Offer total No. of Items Offered

Consolidated value

75,778,890.03

Consolidated Deposit Fee (2% of Total Value in SDG)

1,515,577.80

Consolidated Total No. of Items

Peint date 12/11/2019 Peint time 12:06:23PM Page 4 of 4